Steps to Success

Lockdown
Date
Subject/s Maths
Learning Objective
To use simple formulae
SA TA
Success Criteria I know to complete the functions in the correct order |
V! I know letters represent numhers
I can write algehruic expressions
Support Independent Adult Support ( ) Group Work
Pre-task
Here is an expression that has come from a function
machine: Output=4a + 3

*  What is the output if the input, 3, is 77
*  What is the output if he input is 2.5?
*  What is the input if the output is 637
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Problem Solving and Reasoning

veit  These two function machines give the

@ sSame answer.
—

STE B
Explain it! |I'Ipl..|t — KL > +8 T E DUtpUt
Input —— —s | %2 | — QOutput
What is missing part of the function?
Can you explain why using base 107
Using algebraic expressions?
Explain it!

This function machine gives the same

output for every input.

For example if the input is 5 then the

output is 5 and so on.

Imput ——= =2 5

— Output

What is the missing part of the function?
What other pairs of functions can you

think that will do the same?

vei  Complete the table of values for the

2> following function.

54+ 2a

75 | 30




Answers

+4

Becauseax 2 + 8
is the same as
(a+4)x 2

+2
Functions that are
the inverse of each

other.

15,19, 35,125




Further Challenge

You need to choose any four consecutive numbers and place them in a row with a
bit of a space hetween them, like this:

4 5] & 7
When yowve chosen your consecutive numhbers, stick with those same ones for

quite a while, exploring ideas before you change them in any way. Now
place + and — signs in hetween them, something like this :

4+5-6+7
4-5+6+7

and so on until yow have found all the possibilities. Are you sure yowve got them
all? Yow should include one using all +'s and one that includes all —'s.

Now work out the answers to all your calculations (e.q. 4 - 5 + 6 + 7 = 712 and so
on).

Now try other sets of four consecutive numhbers and look carefully at the sets of
answers that youw get each time.

Are you swrprised by anything yow notice?
It is prohably o good idea to- write down your 'noticings’. This can lead you to



